BT TRIA O - HEHHEE X T ﬂ?ﬁkﬁfﬁm AXBE
- I:I - 3 I:I
X 73,037 158,901 75,892 83,009 [ EHFILETAT 742 1,874 880 994
E 4632 10,018 4,636 5,382
BEKET1T 874 1,880 913 967 |EREEFZH2T 1,416 3,263 1,559 1,704
BEKET2T 332 796 379 417 5 1,416 3,263 1,559 1,704
B 1,206 2,676 1,292 1,384 |[R=E~ EET1T 71 199 88 111
< FE] BT 8,660 20,945 9978 10967 |[R=E~ ER2T 265 545 261 284
Lt RER1T 349 555 278 277 |{R=E~ EBT3T 436 981 477 504
Tt RERT2T 239 441 210 231 |{R=E~EBT4T 201 386 179 207
Lt RER3T 276 494 264 230 |R=E~ EB5T 356 660 345 315
Lt RERT4T 170 306 153 153 5| 1,329 2,771 1,350 1,421
Lt RERST 141 291 144 147 | KSI1RBT1T 750 1,664 783 881
Tt ERERGT 96 234 111 123 | KEZFET2T 899 1,919 926 993
TtERER7T 75 167 77 90 | 1,649 3,583 1,709 1,874
Tt ERERST 123 211 106 105 |EARERTT 74 184 82 102
g 1,469 2,699 1,343 1,356 [FERERT2T 153 343 170 173
tfEBET1T 235 493 236 257 (BB RERI3T 355 766 327 439
tfEBET2T 1,159 2,557 1,198 1,359 |FRERT4AT 284 492 190 302
tfEBET3T 943 1,809 904 905 (B RERIST 140 310 147 163
tfEBET4T 911 2,066 1,028 1,038 £§t| 1,006 2,095 916 1,179
g 3,248 6,925 3,366 3,559 |F{E AT 2,136 4879 2,389 2,490
ERATET1T 632 1,577 791 786 | = A<HT 250 472 233 239
ERATET2T 359 847 402 445 |BEEERMET1T 254 488 224 264
ERATETST 357 836 397 439 |BEE ERMET2T 465 954 472 482
g 1,348 3,260 1,590 1,670 (B EEFRMAETST 697 1,529 724 805
==Yl 1,013 2,178 1,040 1,138 (B EEHRMET4AT 614 1,262 632 630
HEWEET 251 512 233 279 |BEE ERMETST 700 1,641 784 857
HERE2T 396 702 312 390 5| 2730 5,874 2,836 3,038
HEWREIIT 267 481 247 234 | BEEMILAT1T 228 393 177 216
HEWE4AT 140 300 136 164 (BT B5#EILET2T 432 895 433 462
B 1,054 1,995 928 1,067 |BE &R B#EILEIST 525 1,092 528 564
HEREET 1,661 3,254 1,465 1,789 |BE & B#EILET4AT 590 1,277 614 663
HEREET2T 3,039 6,515 3,121 3,394 | B EEEILAIST 738 1,723 841 882
HEFETST 3,023 5,965 2,686 3,279 B 2,513 5,380 2,593 2,787
HEFETAT 2,196 4,260 1,895 2,365 |EE BHEET1T 1,018 1,958 945 1,013
HEREEIST 1,272 2,715 1,315 1,400 (B E BiBHT2T 147 311 162 149
5| 11,191 22,709 10482 12,227 |BEEMEEI3T 2,138 4,489 2,175 2,314
HUEET1T 789 2,183 1,061 1,122 B 3,303 6,758 3,282 3,476
HYERT2T 528 1,317 651 666 |BEETZET1T 636 1,409 657 752
g 1,317 3,500 1,712 1,788 |BEEBHZET2T 485 1,042 496 546
MEET 444 991 490 501 |BEERZAT3T 313 760 367 393
EET2T 319 783 379 404 B 1,434 3211 1,520 1,691
g 763 1,774 869 905 |BEEEARET1TT 658 1,341 669 672
WHAEET1T 717 1,868 896 972 |BEEEARET2T 243 591 288 303
WHEEET2T 209 474 229 245 |BEEEARETST 1,024 2,719 1,322 1,397
RT3 T 712 1,551 776 775 B 1,925 4,651 2,279 2,372
g 1,638 3,893 1,901 1,992 (BEEEREET1T 317 695 343 352
RKEIRAT 5540 12,442 6,005 6,437 |BE BEMET2T 220 474 239 235
hRERTT 277 549 253 206 |BE EEBET3T 598 1,304 641 663
hRER2T 201 365 162 203 g 1,135 2473 1,223 1,250
hRERST 226 502 244 258 |J\TFdt 102 210 99 111
hRERT4T 274 525 255 270
B 978 1,941 914 1,027
o A BT 587 1,240 606 634
hEEEET1T 577 1,233 580 653
hEEEET2T 782 1,338 628 710
hEEEETST 456 1,139 542 597
hEEEET4T 692 1,394 695 699
hEEEEST 840 1,700 821 879
hEEEET6T 3,283 6,275 2,994 3,281
5| 6,630 13,079 6,260 6,819
P =T 835 2,007 982 1,025
BAFBILETTT 1,065 2,217 1,053 1,164
BXEFILET2T 990 2,267 1,124 1,143
BEAEFILAIST 1,835 3,660 1,579 2,081
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